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(1) MPEG-1 (2) MPEG-2 (3) MPEG-3 (4) MPEG-4
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(1) SD (2) DDRAM (3) VRAM (4) SRAM
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(1) DNS (2) PPPOE (3) TCP/IP (4) DLLs

4. Action Script 3 T 7| F 2 A2 i F T 0
(1) Adobe Studio
(2) Macromedia Director
(3) Flash MX
(4) MAYA
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(1) bmp (2) .jpg (3) .gif (4) .tif
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(1) PPP (2) POP (3) SMTP (4) LAN
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(1) PPP (2) POP (3) SMTP (4) LAN
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(1) Netscape (2) Explorer (3) Safari (4) NetGuide
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(1) Time Slider (2) Storyboard (3) Videodisc (4) RGB
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(1) Fire Wire (2) USB (3) PCI (4) PS2
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(2) MIDI shg gL 8 3 &~ F F it

(3) WAV 38— fEid 275 30 % * a5 150

(4) RM & - 8 Real player #77 3.5 #25¢
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(1) SECAM,IBM,DIGITAL

(2) NTSC,PAL,SECAM

(3) SECAM,MICROSOFT,INTEL

(4) SECAM,NTSC,ACER
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(2) 480000 ==~ ‘&
(3) 1320000 ==~
(4) 1320000 =~ ‘e
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(1) 78643200 =~
(2) 78643200 =~ ‘e
(3) 2457600 =~
(4) 2457600 =~ ‘&
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(1) 10Mb (2) 1.54Mb (3) 1024b (4) 256Kb
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(1) CMYK j& & % Rz
(2) 4cd 2 ho
(3) FEfe* AL
(4) ¥ FAph
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(1) 384MHz (2) 17MHz (3) 60MHz (4) 75MHz

20. 3K - B 144MB g B s T kS Y 2 3 9
(H60FF (27083 (3H80FF (4)90F=F



21

-~ REAE: (SHE FHEA 0 X304 )
1. HeRs Fi

(a) [SFEFT

(b) black box testing
(¢) Round Robin
(d) DNS

(e) MFLOPS

multitasking capabilities of an operating system?

2. What does multitasking mean to a user? In what ways does the user benefit from the

3.How is a serial port different from a parallel port?

4.What are the HTML, DHTML, and XML Web Page Development Tools?
(a) sequential storage

5.Briefly compare the following data access methods:

(b) direct access storage

(¢) indexed-sequential access method
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1.

from the low-level details of its implementation.

means the ability to separate the high-level view of an entity or an operation
(A)inheritance (B) randomness (C) encapsulation (D) abstraction
should not change, then the argument is

2. If the value of an argument is one that the function must know in order to do its job but
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(A) passed by reference (B) passed by value
(C) called “local” (D) called “global”

3. Logic programming languages are also called languages.
(A)  declarative (B) applicative
(C) descriptive (D) imperative

4. In BNF, the syntax of a language is specified as a set of
(A) tokens (B)rules (C)objects (D) parse trees

5.The term refers to software that allows separate, existing programs to
communicate and work together seamlessly.
(A)URL  (B) taxonomy (C) middleware (D) e-business

6. is the process of verifying the identity of the receiver of your message.
(A) spoofing (B) SSL (C) authentication (D) encryption

7.The is the number of bits used to encode each sample.
(A) digital rate (B) pixel rate (C) bit rate (D) bit depth

8. was the first programmable device.

(A)Leibnitz’s Wheel (B) the Analytic Engine

(C) the Pascaline (D) Jacquard’s loom

9.When an I/O operation is done, the I/O controller transmits to the processor a special
hardware signal called a(n)

(A)  control  signal (B)I/O  signal
(C) interrupt signal (D) switch signal

10.The holds the address of the next instruction to be executed.
(A) status  register (B) program  counter

(C) condition register (D) instruction register

11.The ability to match the number of processors to the size of the problem is known as
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(A) scalability (B) flexibility (C) malleability (D) adaptability

12.The process of associating a symbolic name with a physical memory address is called

(A)synchronizing (B) validating (C) binding (D) registering

13. can transmit information between networks using totally different communication
techniques.
(A) repeaters  (B) routers  (C) bridges (D) ports

14.Which of the following layer of the TCP/IP protocol hierarchy handles framing?
(A) datalink (B) physical  (C) network (D) application

15.Assigning port numbers to programs and remembering which program goes with which
port is a part of the layer protocols.
(A) physical (B)datalink (C) network (D) transport

16.1t is the job of the layer to create a high-quality, error free, order preserving end-
to-end delivery service.
(A) transport  (B) datalink  (C) network (D) physical

17. is a software package that allows users to log on remotely to another computer
and use it as though it were their own local machine.
(A)Telnet  (B) DNS (C) FTP (D) TCP/IP

18.Which of the following statements is correct?
(A) scientists still think it is necessary to write a Turing machine when they talk about an
algorithmic computation.
(B) a Turing machine that is executing an algorithm to solve some task must halt when
begun on a tape containing input appropriate to that task.
(C) a Turing machine that is executing an algorithm to solve some task need not halt
when begun on a tape containing input appropriate to that task.

(D) just running the Turing machine enables us to decide about halting.

19.1f a Turing machine program consists of the following four instructions:
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(1,0,1,2,R)—(1,1,0,2,R)—(2,0,0,2,R)—(2,b,b,2,L) then which of the following is a
halting configuration?
(A).. b 1 1 b b b .. (current state = 2, symbol 1 is being read)
B) .. b1 1 b b b .. (current state = 1, symbol 1 is being read)
(C) .. b1 0 b b b .. (current state = 1, symbol 0 is being read)
(D)...b10bbb... (current state = 2, symbol 0 is being read)

20.Suppose the current state in a Turing machine is 1, and the current symbol is 0, and that
(1,0,1,2,R) (1,0,0,3,L) both appear in the same collection of instructions. Then the
machine
(A) would proceed as normal (B) has a conflict

(C) would fix the problem and continue (D) would eliminate one of the instructions

21. 11010101 XOR 01001110 =
(A) 11001101  (B) 10011011 (C) 11011111 (D) 01000100

22.x, y S B (xhy) =2
AWxty  Bxy  (Ox+yrry (D)x+yry

23R TR 7 2
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26%@%@?H T«f:[E,IF[JTPJ G [t~ ”rjﬁFF[JfL‘?
(A) Unicode (B) EBCDIC (C)ASCII  (D)Hamming

27 7% iﬂ-?fﬁuéfu Tens Ry i T ﬁj’ﬁgﬁﬁ token fL 7 ?
(A) Lexical phase (B) Semantic phase

(C) Syntax phase (D) Code Generation phase

28717 # T RLVO [y sty - 2
(A) Polling  (B) Paging (C)DMA (D) Interrupt
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(A) O(n) (B) O(nlogn) (C) O(n 10g2 n) (D) O(n*)
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(O)%il[I(class) > s (inheritance) %7 {%(polymorphism)
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